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Name: __________________________________



1
The expression [image: image1.png]


 is equivalent to

	1)
	[image: image2.png]




	2)
	2

	3)
	[image: image3.png]




	4)
	[image: image4.png]_2x°







2
Which expression is equivalent to [image: image5.png]~3x(x—4) - 2x(x + 3)



?

	1)
	[image: image6.png]




	2)
	[image: image7.png]—x? 4+ 18x





	3)
	[image: image8.png]_5x2 _ 6x





	4)
	[image: image9.png]_5x2 4 6x







3
The expression [image: image10.png](32 + 2y + 7) - (6x° — dxy + 3)



 is equivalent to

	1)
	[image: image11.png]3xt -
2xy+4





	2)
	[image: image12.png]3t -
2xy+4





	3)
	[image: image13.png]~3x% + fixy + 4





	4)
	[image: image14.png]3t -
fxy— 4







4
The expression [image: image15.png](22° + 6x+ 5) - (6% + 35+ 5)



 is equivalent to

	1)
	[image: image16.png]_4x2 + 3x





	2)
	[image: image17.png]4x2 - 3x





	3)
	[image: image18.png]_ax? — 3x+ 10





	4)
	[image: image19.png]4x2 + 3x— 10







5
The expression [image: image20.png](x*
- 5x
—-
(-6
- Tx
—3)



 is equivalent to

	1)
	[image: image21.png]X2 - 12x-5





	2)
	[image: image22.png]722 = 2x+ 1





	3)
	[image: image23.png]722 4 2x+ 1





	4)
	[image: image24.png]7x2 4 2x-5







6
When [image: image25.png]5x+ 4y



 is subtracted from [image: image26.png]S5x— 4y



, the difference is

	1)
	0

	2)
	[image: image27.png]10x





	3)
	[image: image28.png]8y





	4)
	[image: image29.png]—8y







7
When [image: image30.png]3x2 — 8x



 is subtracted from [image: image31.png]2x2 + 3x



, the difference is

	1)
	[image: image32.png]—x? 4 11x





	2)
	[image: image33.png]




	3)
	[image: image34.png]




	4)
	[image: image35.png]






8
When [image: image36.png]g’ —4g+2



 is subtracted from [image: image37.png]78+ 5g -1



, the difference is

	1)
	[image: image38.png]4g® — 9g+ 3





	2)
	[image: image39.png]igt v g+l





	3)
	[image: image40.png]4g +9g-73





	4)
	[image: image41.png]10g*+g+1







9
When [image: image42.png]4xd + Tx—-5



 is subtracted from [image: image43.png]0x2 — 2x+ 3



, the result is

	1)
	[image: image44.png]5x2 4 5x—2





	2)
	[image: image45.png]5x2 — 9x+ 8





	3)
	[image: image46.png]_5x2 4 5x—2





	4)
	[image: image47.png]_5x2 4+ 9x—8







10
What is the result when [image: image48.png]2x?
+ 3y
-6



 is subtracted from [image: image49.png]2 Txy+ 2




?

	1)
	[image: image50.png]




	2)
	[image: image51.png]x4 10xy -8





	3)
	[image: image52.png]




	4)
	[image: image53.png]






11
When [image: image54.png]8x2 + 3x+ 2



 is subtracted from [image: image55.png]9x2 — 3x—4



, the result is

	1)
	[image: image56.png]




	2)
	[image: image57.png]17x% -2





	3)
	[image: image58.png]x4+ 6x+6





	4)
	[image: image59.png]






12
When [image: image60.png]2x2 — 3x+ 2



 is subtracted from [image: image61.png]4x2 — Sx+ 2



, the result is

	1)
	[image: image62.png]2x2 - 2x





	2)
	[image: image63.png]_2x? 4 2x





	3)
	[image: image64.png]_2x? — 8x+4





	4)
	[image: image65.png]2x2 — 8x+ 4







13
What is the result when [image: image66.png]4x2 — 17x+ 36



 is subtracted from [image: image67.png]2% — 5x+ 25



?

	1)
	[image: image68.png]6x2 — 22x+ 61





	2)
	[image: image69.png]2x2 — 12x+ 11





	3)
	[image: image70.png]_2x% — 22x+ 61





	4)
	[image: image71.png]x4 12x- 11







14
When [image: image72.png]6x2 — 4x+ 3



 is subtracted from [image: image73.png]3x2 - 2x+ 3



, the result is

	1)
	[image: image74.png]3x2 — 2x





	2)
	[image: image75.png]_3x2 4 2x





	3)
	[image: image76.png]3x2 — 6x+ 6





	4)
	[image: image77.png]_3x2 — 6x+ 6







15
What is the result when [image: image78.png]6x2 — 13x+ 12



 is subtracted from [image: image79.png]_3x2 4 6x+ 7



?

	1)
	[image: image80.png]3x2 — Tx+ 19





	2)
	[image: image81.png]9x? — 19x+ 5





	3)
	[image: image82.png]9x2 — Tx+ 19





	4)
	[image: image83.png]_ox? 4 19x-5







16
If [image: image84.png]20 —6a+5



 is subtracted from [image: image85.png]3ad - 2a+3



, the result is

	1)
	[image: image86.png]5a —8a+8





	2)
	[image: image87.png]2l +dq -2





	3)
	[image: image88.png]




	4)
	[image: image89.png]8a+8







17
When [image: image90.png]3at-2a+5



 is subtracted from [image: image91.png]dra-1



, the result is

	1)
	[image: image92.png]20— 3a+6





	2)
	[image: image93.png]22 +3a-6





	3)
	[image: image94.png]20 —3a-6





	4)
	[image: image95.png]20 +3a+6







18
If [image: image96.png]2x2 —4x+ 6



 is subtracted from [image: image97.png]5x2 4 8x—2



, the difference is

	1)
	[image: image98.png]3x2 + 12x—- 8





	2)
	[image: image99.png]_3x2 — 12x+ 8





	3)
	[image: image100.png]3x2 + 4x+ 4





	4)
	[image: image101.png]_3x2 4 4x+ 4







19
When [image: image102.png]3x2 - 2x+ 1



 is subtracted from [image: image103.png]222 + Tx+ 5



, the result will be

	1)
	[image: image104.png]x4+ 9%+ 4





	2)
	[image: image105.png]




	3)
	[image: image106.png]x4+ 5x+6





	4)
	[image: image107.png]x4+ 5546







20
When [image: image108.png]x4 4x+ 2



 is subtracted from [image: image109.png]x4+ 6x-4



, the result is

	1)
	[image: image110.png]_3x2 - 2%+ 6





	2)
	[image: image111.png]2% 4+ 10x-2





	3)
	[image: image112.png]2x2 - 2x— 6





	4)
	[image: image113.png]3x2 4 2x— 6







21
If [image: image114.png]2% — x4 6



 is subtracted from [image: image115.png]x4+ 3x-2



, the result is

	1)
	[image: image116.png]x4+ 2x-8





	2)
	[image: image117.png]4x+8





	3)
	[image: image118.png]x4+ 2x-8





	4)
	[image: image119.png]x4+ 4x-8







22
When [image: image120.png]30— Ta+6



 is subtracted from [image: image121.png]4 - 3a+ 4



, the result is

	1)
	[image: image122.png]2l +dq -2





	2)
	[image: image123.png]




	3)
	[image: image124.png]




	4)
	[image: image125.png]7a® — 10a + 10







23
When [image: image126.png]x4+ 3x-4



 is subtracted from [image: image127.png]2 +3x2 - 2x



, the difference is

	1)
	[image: image128.png]2+ 202 —5x+4





	2)
	[image: image129.png]2+t x-4





	3)
	[image: image130.png]P +4xi+x-4





	4)
	[image: image131.png]






24
Subtract [image: image132.png]5x2 — Tx—6



 from [image: image133.png]0x2 + 3x—4



.

25
Subtract [image: image134.png]2x2 — 5x+ 8



 from [image: image135.png]6x2 + 3x—2



 and express the answer as a trinomial.

26
When [image: image136.png]


 is subtracted from [image: image137.png]5
7

Sx-xal

7



, the difference is

	1)
	[image: image138.png]CRETar





	2)
	[image: image139.png]




	3)
	[image: image140.png]




	4)
	[image: image141.png]






27
When [image: image142.png]


 is subtracted from [image: image143.png]5
3

2xi-dxaz

7



, the difference is

	1)
	[image: image144.png]




	2)
	[image: image145.png]riaRt s





	3)
	[image: image146.png]1a 1
FTRTELY





	4)
	[image: image147.png]IR







28
Expressed in simplest form, [image: image148.png]x-7 _3x-2
6 12




 is equivalent to

	1)
	[image: image149.png]x+5






	2)
	[image: image150.png]2x+9






	3)
	[image: image151.png]—x-12
12






	4)
	[image: image152.png]—x—16
12








29
Find the difference when [image: image153.png]2

220
FRa]

4.3
3



 is subtracted from [image: image154.png]3
7

2+ 32—

2
3



.


1
ANS:
3
REF:
080623a

2
ANS:
4

[image: image155.png]3x(x - 4) - 2x(x + ) = —3x° + 12x - 2x° — 6x = —5x° + 6x




REF:
081114ia

3
ANS:
3
REF:
080423a

4
ANS:
1
REF:
010707a

5
ANS:
3
REF:
060511a

6
ANS:
4
REF:
061130ia

7
ANS:
1
REF:
010523a

8
ANS:
3
REF:
080819ia

9
ANS:
2
REF:
060923ia

10
ANS:
1
REF:
011126ia

11
ANS:
4
REF:
061226ia

12
ANS:
1
REF:
061322ia

13
ANS:
4
REF:
011429ia

14
ANS:
2
REF:
061414ia

15
ANS:
4
REF:
081428ia

16
ANS:
2
REF:
spring9805a

17
ANS:
2
REF:
010019a

18
ANS:
1
REF:
060019a

19
ANS:
1
REF:
080020a

20
ANS:
4
REF:
080209a

21
ANS:
4
REF:
010429a

22
ANS:
1
REF:
010619a

23
ANS:
1
REF:
011314a2

24
ANS:


[image: image156.png]4x2 + 10x+ 2




REF:
080123a

25
ANS:


[image: image157.png]4x2 + 8x— 10




REF:
010934a

26
ANS:
2
REF:
011114a2

27
ANS:
3
REF:
061515a2

28
ANS:
3
REF:
068927siii

29
ANS:


[image: image158.png]



REF:
011635a2
